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F.8. Advanced Algebra DATE:__1 ! 13 iz
M e
Introduction to Inverses il
afgupplmse you are given the following directions: W= o & N ‘,
I8 \ [T
. From home, go north on Rt 23 for 5 miles S tl
. Tum east (right) onto Orchard Street Pd
von =
. o to the 3rd traffic light and turn porth (left) onto Avon Drive 0 rr,l-u
. Tracy's house is the 5th house on the night.
If you start from Tracy’'s house, write down the directions to get home. 3
[ Hng Sovth on Avin unt,| y ov Lt Orharvd. R*I B
Tora west s Orck Lakil y ov it R 23, EW“J':“:II‘*] i
1. How did you come up with the directions to get home from Tracy's?
" # .
T drew o pic emd went ‘vugkuhwltf unJoInj oi’l.jl’ml di cecions
Now suppose you are given the following algornithm:
. Starting with a number, add 5 to it -
X
. Divide the resultby 3 0
¥
[Ele® = = 100% (= 0 (+)
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Now suppose you are given the following algornithm:

® _ X
I"“" algorithmthat you came up with above. CHE N (Itﬂ ’;( -I-‘-}

Starting with a number,gd S5toit
& Divide the resultby 3
@ Subtract 4 from that quantity

4
@ Double your result

2. The final resultis 10. Working backwards knowing this result, find the onginal number. Show
your work.

o - . = 71— =|TL
2. F+4=19 9xX3 =27 . 27-%
G‘u ')t\,t‘.Ln}mrcll Ztr J 1 ! }

3. Wnte a function f{x), which when given a number x (the original number) will model the
operations given above. cH e,
m——

X 4+ § 1i¥s
foo = ( 3 “+> foy = L(""—' i) -1L?=£-—H):?.(“'L‘

4. Wrte a function g(x), which when given a number x (the final result), will mmdel the backward

L - - W
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A ) —
\h'"‘}‘j()‘\' b }k_?_ + Li - )( 'Y .f-q,) s = 3(?} -5 = 7 -g'-l'l'-"" -
\. .y J i
Follow algeritin badkwad .
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Follow these directions: Ef
2 ™
1. Usingthe coordinate plane below, graph relation A = {(2 1), (24} (‘_)J}} i
These points should forma nghttrlangle P
) r h—ﬂ" N
2. 1 \.__/ miIre® o |int
o o
or reflect
y = ._I, +0 o
3. Onthe coordinate planein #2, graphé = x)/ Slnf . -:—- -lﬂk"lff";" L 0
4. Explanation: “Aninverse is when the x-value and y-value are switched for
each point within a relation.” Using this explanation of inverse, write the
inverse of A, whichiswrittenas Al A7={( 1 -2 ) (4 ,-2),( |, =0}k
=l mea -1 . b A
5. Graph A-' on the coordinate plane in #2. Moanerse, S AT 0 read a5 T A nuerse
6. Describe how the graph of A compares to the graph of its inverse, A-'. Use -
the liney = x to help you with your description. L 2
A (ble d) and A(redd) ave relhdions of eachother dver fhe mirvoe Iine °
E = 100% (=) [} (¥)
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